Constraining relations

CR 1) Ploaa=P20us=P2B,=P3pg:

CR 2) Plog=P20p=P3paa=P3pPa=P3caa=P3cfa=P4sPa=P4cPa:
CR3) Ploc=P2ac=P5Ba=P5cPa:
CR4) P3gop=P35Ps=P3cos=P3cPs:
CR5) P3ABa=P3goc=P3coc:

CR6) P3A04=P3Ba:

CR7) P4gos=P4pPp=P4cor=P4cPs:
CR8) P4,pa=P4goas=P4cog:
CR9) P4p0a=P4P4:

CR10) P5gaa=P5sPs=P5coa=P5:Ps:
CR11) P5aiBa=P5gasP5aas:

CR12) P5aia:

CR13) P4daa:
CR14) PSaa:

Creating Possibility

CPR1) P3pya=P3pPp=P3cya=P3c0a
CPR2) P3A0A=P3pys=P3cys:
CPR3) P3ys=P3aya:

CPR4) P4pys=P4pya=P4cya=P4cda:
CPR5) P4,0s=P4pyp=P4cys
CPR6) P4ys=P4a1ya=P504:

CPR7) P5gaa=P5pda=P5cya=P5c0a:
CPRS8) P5A104=P5pys=P5¢Ys:
CPR9) P4yp=P4,1ys:

CPR10) P5ys=P5a1ya=PIog:

Directing
Dl) PD\,A=PSB¢A=P5(;¢AZ
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